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QUESTION 1

A large finance firm processes three times as many transactions in December of each year. The transactions are
processed in a private cloud. Management wants to avoid adding permanent resources to accommodate the single
month increase. Which of the following is the BEST way to meet the need?

A. Migrate all transaction processing to a public cloud and size capacity for the largest seasonal needs.

B. Keep current capacity for processing, but implement cloud bursting to auto scale the resources without having to
invest in infrastructure.

C. Determine usage patterns over time and virtualize the processing traffic to give room for seasonal changes in
resource demand.

D. Determine usage patterns for the seasonal capacity needs and add physical resources to allow additional
processing.

Correct Answer: B

QUESTION 2

A system administrator has a server that has lost one of its connections to an adjacent server room. The server can still
be accessed remotely through its single network interface; however, it has lost access to some of its drives. Which of
the following is MOST likely correct?

A. The system has exceeded its disk latency threshold and has disabled its NIC.

B. The system has memory issues which are causing the OS to incorrectly define drives.

C. The system is having intermittent network issues.

D. The system is having an HBA failure or disconnection.

Correct Answer: D

QUESTION 3

Which of the following is the BEST method to isolate iSCSI network traffic?
A. WWPN Zoning

B. WWNN Zoning

C. Dedicated VLANs

D. LUN Masking

Correct Answer: C
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QUESTION 4

A company is testing a new software product that is intended for auto discovery of assets within a cloud environment.
The testing department wants to ensure that initial testing does not allow the product to leave the boundary of the test
environment. Which of the following should the network administrator implement in the department test environment?
A. ACLs

B. DMZ

C. DS

D. SNMP

Correct Answer: A

QUESTION 5

A cloud administrator is looking at business requirements that specify the data available at the disaster recovery site
must not be more than 24 hours old. Which of the following metrics correctly relates to these requirements?

A.RTO
B. MTBF
C. MTTR
D. RPO

Correct Answer: A
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